A ARSI B Z M

M gl FE(MISEX/ES)
Selr ARZH 2dE X (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Atal & 2 Tl ot 11,751,333 0 11,751,333
= 8,391,300
& 6,600
< 3,353,433
gdxel BE(MIEXN/ES) 11,695,238 0 11,695,238
= 8,391,300
&2 6,600
< 3,297,338
M2 HZH 243 X& 7,307,400 0 7,307,400
= 5,442,425
< 1,864,975
AN |4 Jg2= 912,400 0 912,400
202 04 Hl 5,400 0 5,400
12O 5,400 0 5,400
OAHIM 4 5,400
307 izl & 600,000 0 600,000
02 QIZtFAEXZ 600,000 0 600,000
OZ%cllg NJAdH 29 456,000
OAMIEIN AEDIY 4 100,000
OMIIEHZHM Hetsotel WX ZE 20,000
OMEBIHIN H2IF ddu= 24,000
402 2I2H X201 M 277,000 0 277,000
01 RIZEAt =282 X 277,000 0 277,000
OA2IHZH =201 E X& 50,000
OAIHZM UWERIA 7= 27,000
O018EESHSHIZ A EZH clHAl =
HME =z 100,000
OXdEs RESAY =& 100,000
403 UM E X201 H 30,000 0 30,000
01 X EHHMA=ZLE L 30,000 0 30,000
OAIHI M =e0HE £X 30,000
AP RO 24(=21) 5,241,800 0 5,241,800
= 4,851,325
< 390,475
307 gl2tol & 100,000 0 100,000
= 80,000
< 20,000
02 QIZtFAE XS 100,000 0 100,000
OXNIEsAE (2H) 100,000
= 80,000
= 20,000
308 XXIEHH SOl A 5,141,800 0 5,141,800




DM EE M
™ Udxel HE(AS=XR
1 MAEZMN 243 X

/=8)

Sl @e)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 4,771,325
< 370,475
01 AXHHIYEES 5,141,800 5,141,800
ogXtel =AM 4,045,600
= 3,792,750
= 252,850
OAS el XI&AS 941,000
= 823,375
< 117,625
OXSES AL (JI=x) 155,200
= 155,200
M HIE 4 204,500 204,500
201 Letd] 10,000 10,000
01 At 22/l 10,000 10,000
OMEIEIIY 298 & g8 FJA 10,000
202 O4dl 4,500 4,500
01 = LH o4 1 4,500 4,500
OMSIRIIY =4 4,500
307 21201 A 30,000 30,000
02 B AEXRS 30,000 30,000
OMIAHIT S4 30,000
403 MHXSHHSA=0l& 160,000 160,000
01 X SHHMA=LE L 160,000 160,000
OAMIIAEIIG AAHl X 160,000
0201 £4(=1) 835,700 0 835,700
= 591,100
< 244,600
307 g2+l & 192,200 0 192,200
= 96,100
= 96,100
02 QItFAEXZ 192,200 0 192,200
onsJIyg sd A48 155,000
= 77,500
< 77,500
osJ1Yy £8Xd =22 37,200
= 18,600
< 18,600
308 XXIEHH S0 A 643,500 0 643,500
= 495,000
= 148,500
01 IXNHHBNEES 643,500 0 643,500
o221 4 (&) 292,500
= 225,000
< 67,500
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=

AAXHZH 43t

INICIESEED (s

el E(AES / g)

o
SN FH-SA(EN) - MBAY - BES e HlnE2
ol sd(2xEE) 351,000
= 270,000
< 81,000
0IS01g |84 64,500 64,500
201 Let24d] 10,000 10,000
01 At 2teltl 10,000 10,000
Ot At=22| XI& 10,000
202 Odl 4,500 4,500
01 = LH 4 Hi 4,500 4,500
onslly &4 4,500
307 glz2+ol & 50,000 50,000
02 QB AEXS 50,000 50,000
Oll=ESH 25 ZT2HE FX 50,000
gsXg 243 N 48,500 48,500
201 Let24d] 10,000 10,000
01 At 22l 10,000 10,000
Ogsxg d8d & g8 10,000
202 O4dl 4,500 4,500
01 2L 0i b 4,500 4,500
ogsxg 84 4,500
307 glz2+ol & 34,000 34,000
02 2IHFAEXS 34,000 34,000
OMNAH BsXe 10 A &F JIE A 34,000
Al 4 O = 313,200 313,200
= 6,600
< 306,600
ZB22 2UHY FH(2D) 13,200 13,200
= 6,600
= 6,600
101 @124l 13,200 13,200
= 6,600
< 6,600
04 JIZHHNZ2Z2XNSE+ 13,200 13,200
0OZT2E BUEHY 13,200
& 6,600
< 6,600
SE22AMY XA 300,000 300,000
308 XX EHSOIA 300,000 300,000
01 HXNHHNBHELS 300,000 300,000
O23=2=2AY 300,000




AN ARSI A Z T
HH: dxjel EE(AM=EX/=S)

el HY =R (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

FIEA 4,074,638 0 4,074,638
= 2,948,875
& 1,125,763

FAEEAIY =&A 231,100 0 231,100

201 Bt A | 14,500 0 14,500

01 AFR2 22l Yl 14,500 0 14,500
OFgLH Hz =X 14,500
OgXtel XNJHH g8 10,500
Od3dE=s HIXNA 4,000

202 0db] 5,000 0 5,000

01 2LHHI 5,000 0 5,000
OFIXNIAANY =& 5,000

308 XX S M SO0l & 211,600 0 211,600

01 AXHNBNMNEXZ 211,600 0 211,600
OFYgLH ¥ =& 55,000
OANZ XXM 29 XN 66,600
OFNdX JIgH HSXHA 90,000

NE2SsHLXeIAY(=2D) 3,843,538 0 3,843,538
= 2,948,875
< 894,663

201 Bt H | 5,000 0 5,000

01 At 22l Yl 5,000 0 5,000
OXNASSHMLXAel =A 5,000

202 04| 5,000 0 5,000

01 2LHOHI 5,000 0 5,000
OXNg3sHL e F=A 5,000

308 AtXI S M SO0l & 3,833,538 0 3,833,538
= 2,948,875
= 884,663

01 AIXHMBAEXZ 3,833,538 0 3,833,538
OXNY3SH LAl At 3,833,538
= 2,948,875
& 884,663

HHSHBH I (AFSI EHZ M) (DIEH/DIEL) 56,095 0 56,095

ol 2| 24,095 0 24,095

T AR BHEH 29 24,095 0 24,095

101 2124 d| 24,095 0 24,095

03 I HLZZAHE = 24,095 0 24,095
OF A A AL C121H] 24,095
oJN=3 11,432
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